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General Instructions :

Read the following instructions carefully and strictly follow them :

(1) This question paper contains 34 questions. All questions are
compulsory.

(2) This question paper is divided into two Parts : Part — A and Part — B.

(3)  Part- A is compulsory for all candidates.

(4  Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted in Part — B.

(5)  Question numbers 1to 16 and 27 to 30 carry 1 mark each.

(6) Question numbers 17 to 20, 31 and 32 are short answer type questions.
Each carries 3 marks.

(7) Question numbers 21, 22 and 33 are long answer type-I questions. Each
carries 4 marks.

(8) Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.

9) There i1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks,
1 question of four marks and 2 questions of six marks.
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1. (a) 3Fd fAfes 3 T 24,00,000 i giErafEi 1 59 fRaT | 363 Tod 1 TaE 3694
% 100 S h 9% RUTTAT ol 4% §g T T hieh foha | forskar o fifia fopn

T SROTIAT <hl G oft -
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000 1

YT

(b) 1 W%, 2023 I 3T feAfieg 7 ¥ 100 TS <, 10,000, 10% FOTHAT Sl 10%
fiftrr w frifid fema foment siiem 10% Sftrm o ferem STem | o= <6 fiea

X g1 <k iy B
(A) % 2,00,000 (B) % 1,30,000
(C) % 1,00,000 (D) % 80,000 1

2. T[T qUT IHi Teh W o WIS & AT 4:1 % FTUTd § oY sied 8 | I8 ol # 1/4 9
% feru sfifer =l ush Fom AIgER s, T 38 quia: e &y R | e, st qen
fifer <1 7T T forTeM ST 2
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4 1

3. U Al WY & foEed W T 34,000 % SER 9 | T 1,000 3 SHER T T AT IN
TR T 60% hT IEeA T T8 | SHERT T SEell W HH & @Id ! A foham S qen
[EEIRUNE: B
(A) o @@ 33,000 9 (B) wH-IH @ar % 1,000 9
(C) T @@ 19,800 F (D) eTeRW@rET % 14,200 9 1

4. %1,50,000 1 35 TRETRTET 33 TTqhd oh feq AfE fershar w1 2 1,25,000 3 I0f e
I /9 ot Tefee fohar et & @ 3 25,000 o 319 bl ST foha e
(A) ATH-BI foemor (B) ©fd @ T
(C) St T= @t | (D) - GHREISH @ | 1

5. (a) fom, G qen Yo veh w1 Greier off | 31 WTH, 2023 1 W] et & TS | W]

%I ¢ TRT T 2,17,000 T EEATAT 38h 0T GTd H L {71 T | W0 3 39 AT W
et 3ffRm, 1932 % TEUMT & TR AN o T dghfd € | 98 @ fim

0] ! AT ¢ BT, 98 &
(A) 9% =TT (B) 6% T
(C) 12% diNeh (D) 10% =ies 1
T
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PART -A
(Accounting for Partnership Firms and Companies)

1. (a) Arnav Ltd. purchased assets worth ¥ 24,00,000. It issued 9%
debentures of ¥ 100 each at a discount of 4% for payment of the
purchase consideration. The number of debentures issued to vendor

were :
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000 1

OR
(b) On 1st May, 2023, Amrit Ltd. issued 10,000, 10% debentures of ¥ 100
each at a premium of 10% redeemable at a premium of 10%. Loss on

issue of debentures will be :
(A) % 2,00,000 (B) 1,30,000
(C) %1,00,000 (D) 80,000 1

2.  Gupta and Sharma are partners in a firm sharing profit in the ratio of 4:1.
They admitted Preeti as a new partner for 1/4th share in the profits, which
she acquired wholly from Gupta. New profit sharing ratio of Gupta,

Sharma and Preeti will be :
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4 1

3.  On the dissolution of a partnership firm there were debtors of ¥ 34,000.
Debtors of ¥ 1,000 became bad and 60% was realized from the remaining
debtors. Which account will be debited and by how much amount on the

realisation from debtors ?
(A) Realisation A/c by % 33,000 (B) Profit & Loss A/c by ¥ 1,000

(C) Cash A/c by % 19,800 (D) Debtors A/c by T 14,200 1

4. If vendors are issued fully paid shares of ¥ 1,25,000 in purchase
consideration of net assets of ¥ 1,50,000, the balance of ¥ 25,000 will be
credited to :

(A) Statement of Profit and Loss

(B) Goodwill Account

(C) Capital Reserve Account

(D) Profit and Loss Adjustment Account 1

5. (a) Riya, Rita and Renu were partners in a firm. On 31st March, 2023
Renu retired. The amount payable to Renu T 2,17,000 was
transferred to her loan account. Renu agreed to receive interest on
this amount as per the provisions of Partnership Act, 1932. The rate
at which interest would be paid to Renu is :

(A 9% p.a. (B) 6% p.a.
(C) 12% p.a. (D) 10% p.a. 1
OR
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(b) &, A T ST T TH H STR-SUE o WEIER & | T <Al ettt o geErd
o aur ot o Gt 99 sRE: € 1,56,000 99T ¥ 1,08,000 & | ®H i A3 Uit
% 2,80,000 fagifa &t 73 | T fol forem o fo6 ISt 9w wrieRt & oy fawrsa
I HEntt | s T SR d i & few et o |
(A) % 40,000 (B) % 12,000
(C) 20,000 (D) % 32,000 1

6. ot JTfafEd, 2013 & FEEHEi o AR Sfavfd Sfirm s 3u=m fe 6 § fohees forg
&1 Toha ST T :
(A) 30T/ Bl T T K % forg
(B) 3TI3Teh Y SIME 39901 /3T o e < fee
(C) RIS o T3TH 92 2 Rl 3raferfiad s o fag
(D) 3Rk =1 i 3feriad s & forw 1

7. () Toura fafiee 3 2 10 9% & 6,000 THAT A0/ BT 10% it w fFffia
T o ToTu 31ree 3t fope | ey quf wa @ stftrem &1 | uf svwr/9= afen
ST T T TR & o ot
JATEEd W — T 3, 3MMeed W — T 3 (ifeaw gfed), vom Im=-r © — T 3 9o A=
AT T — % 2 | 200 3971 /3 o Teh Geh ST o SATee o A1 & Toi Ui
ST T L AT | TS T T et T off

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
GEC))

(b) T s 3 T 10 T & 5,000 AT /I 1, T 10% HfEm
Ferifera femam o e, 3 2 wfa 3iwr/3RR 6 3rf=mg Jr=ET 1 P T8 e W g
(Forfeit) & form | g =g7am TR i@ w57 o7l /3= o1 g wea g9: fifia

Toper ST gehar B, B8R -
(A) 5,000 (B) % 10,000
(C) % 12,000 (D) % 50,000 1

8. (a) T ua®= i ug s o@n av-ziH faf = @ o 7€ e S Eehar & 2
VIR CIRNC IR
(B) 3TE WA
(C) WTIERI <! YTa foam T feptrn
(D) HTEER T JaH 1
YT
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(b) Ravi, Vani and Tomi were equal partners in a firm. After the
retirement of Vani, the capital balances of Ravi and Toni were
% 1,56,000 and % 1,08,000 respectively. The new capital of the firm
was determined at ¥ 2,80,000. It was decided that the capital will be
in proportion of the profit sharing ratio of the remaining partners.

Toni will bring for deficiency of his new capital.
(A) % 40,000 B) % 12,000
(C) % 20,000 (D) % 32,000 1

6. As per the provisions of Companies Act, 2013 Securities Premium cannot
be utilized for :

(A) buy back of shares

(B) 1issue of partly paid bonus shares

(C) writing off discount on issue of debentures

(D) writing off preliminary expenses 1

7. (a) Vishant Ltd. invited applications for issuing 6,000 equity shares of

% 10 each at 10% premium. The issue was fully subscribed. The
amount per share was payable as follows :
On application - % 3, on allotment - ¥ 3 (including premium), on first
call - % 3 and on final call - ¥ 2. Ashish the holder of 200 shares paid
the entire money along with allotment. The total amount received on
allotment was :

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
OR

(b) M Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a premium
of 10% for non-payment of final call of ¥ 2 per share. The minimum
amount at which these shares can be reissued as fully paid up will

be :
(A) 5,000 (B) 10,000
(C) %12,000 (D) 50,000 1

8. (a) Which one of the following items is not dealt through Profit and Loss
Appropriation Account ?

(A) Interest on Capital (B) Interest on Drawings
(C) Rent paid to partners (D) Partner’s salary 1
OR
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(b) e HIISR & Ja9 & aud W o1 feufa fomor 2 80,000 1 o= axfegfd =
oot W@ o1 | A &fagfd 1 2 1,00,000 % € BT SHEH HRET T
% 20,000 <hT HHI T :
(A) TR @Td H AT et Se |
(B) YHcuTeR @Td | ST feham STaT |
(C) @T3ierl % ot @t # = fea s |
(D) @T3ieRi % ol @t # S fea s | 1
9. ooy qen i) ush WY % WiSeR 7 | Hiv) v forwrel & 31a § weh ffvea ufdyn s e
HT 2 | I W RN 15% a1fies g & gia femarm Siar 2 | o & 37=q o His) &
JTET WSS 9,000 T | HIP] <h STTEVT T TS TG Tehall 77 o7
(A) 67ERH (B) 7% "WER T
(C) 4% "g_d (D) 49T 1

frferfaa shreufens feufa w1 ufew i sea g 10 @ 11 % ST &R

rfefer qem Ty Ush wH § TSR A 9T 2:1 o 31U H o1 -g1iH 1 favee s
& | 1 3T, 2022 1 3Fh! Toft sHAT: T 5,00,000 AT  4,00,000 2t | 31 91, 2023
%I G BT TN H, hig HI FHREISH it & 99 HH 9 3 81,000 T G AW i fopam |
TTIERI Tel@ o ITTAR Yot TS 10% a1fiies gt & fezm e |

10.  3fefa <t gt == g

(A) 50,000 (B) % 45,000

(C) % 40,500 (D) % 54,000 1
11. 3fefd wa gy &1 Ot W s ffetfaa & @ fopm arquma § feam strem 2

A) 54 B) 2:1

© 11 D) 8:1 1

12. (a) o1 OAT AT Teh B <hl AR o TUT 3:2 o AT § A1 a1 g1 St of |
IFhI GSft SFAST: % 5,00,000 TT X 1,00,000 &t | ST 8% a1feh & § Yot W
=TS <1 3ATRRT off a2 3= T 5,000 Ui A8 i e § 9dq i el off |
foreht oft TTIeH & gd 3¢ @ % 1,75,000 o1 | faifora fop S atet @y 1 9=

T AT BATT
(A) % 45,000 (B) % 30,000
(C) 37,500 (D) Z 40,000 1

ean

(b) 3R qer frar v % 3 | 9 | iR T 20,000 a1 Ia 1 AR o
Stefer 1T 2 50,000 aTfYeR S 1 IR o1 | 3TihR 3R e 61 Ia7 wwria
% < S 31 HIE, 2023 I THIG &H et 99 1 g oY T 5,60,000 o7 |
TR ok YST @Td | ST <l S aTelt et TR 8l

(A) % 2,45,000 B) % 2,65,000
(C) % 3,15,000 (D) % 3,00,000 1
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(b) At the time of admission of a partner, the Balance Sheet of the firm
showed a workmen compensation reserve of ¥ 80,000. The claim for
workmen compensation was estimated at ¥ 1,00,000. The shortfall of
$ 20,000 will be :

(A) debited to Revaluation Account

(B) credited to Revaluation Account

(C) debited to Partners’ Capital Accounts

(D) credited to Partners’ Capital Accounts 1

9. Vishnu and Mishu are partners in a firm. Mishu draws a fixed amount at
the end of every quarter. Interest on drawings is charged @ 15% p.a. At
the end of the year interest on Mishu’s drawings amounted to ¥ 9,000.
Interest on drawings was charged on drawings of Mishu for :
(A) 6 months (B) 7 % months
(C) 4% months (D) 4 months 1

Read the following hypothetical situation and answer questions 10 and 11.
Aditi and Saurabh were partners in a firm sharing profits and losses
in the ratio of 2:1. On 1st April, 2022 their capitals were T 5,00,000 and
% 4,00,000 respectively. Before any appropriation, the firm earned a Net
profit of ¥ 81,000 for the year ended 31st March, 2023. According to the
partnership deed, interest on capital was to be provided @ 10% p.a.

10. Interest on Aditi’s capital will be :
(A) 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000 1

11. Interest on capital will be provided to Aditi and Saurabh in which of the
following ratio ?
(A) 54 B) 21
) 11 (D) 8:1 1

12. (a) Vanya and Aanya were partners in a firm sharing profit and losses
in the ratio of 3:2. Their capital were T 5,00,000 and ¥ 1,00,000
respectively. Vanya was entitled to interest on capital @ 8% p.a. and
Aanya was entitled to salary @ ¥ 5,000 per month. The net profit
before any appropriation was % 1,75,000. Vanya’s share in divisible

profit will be :
(A) % 45,000 (B) % 30,000
(C) % 37,500 (D) % 40,000 1

OR
(b) Omkar and Shiva were partners in a firm. Omkar was entitled to a
salary of ¥ 20,000 p.a. while Shiva was entitled to a salary of
% 50,000 p.a. Net profit for the year ended 31st March, 2023 after
charging salary of Omkar and Shiva was ¥ 5,60,000. The total
amount credited to Omkar’s capital account will be :

(A) % 2,45,000 (B) % 2,65,000
(C) % 3,15,000 (D) % 3,00,000 1
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13. oT=aT, W T 3 Uk WA & |Teier o | 9 9 wH @ 10% a1 e T 1,00,000
ST 0T ST o | B o1 SIETITA R0T T 6% dTNeh €L ¥ &7 & o f0 SIR ¢ @1 2 | Fsm
! fopm <0 8 o WSS T st 2

(A) 6% e (B) 10% di¥eh
(C) 8% daiieh (D) KU1 YT <hIS TSl T&1 T Sa | 1

14. INPEFAT (A) : 978 FOET T AT 61 PIAH 39 Ao i fohaT Tam 8 ST 36 FhR

ST H HeT™ SATeT HUH sl TEd LA & |

SR (R) : 918 FUGET bl Yt & g FEATid fohdT ST Tehdl & 3R Hrol TH
SRUTIST ETEh! <1 oh13 1Ll &l Tl 2 |

FrfeRaa o o9&l foehe o1 ==H il

(A)  ATHA (A) TATHR (R) SHT Tl § 3T HR (R), 3R (A) i T8l SRS 2 |

(B) ANRYA (A) T1 %R (R) GHI T&T 7, WAfehd R (R), TR (A) I T2
AT TR 8 |

(C) ANYERe (A) T &, Sifehd HRUT (R) TTed 2 |

(D) FANRYT (A) TTeTd 8, wifeh Rl (R) G&1 2 | 1

15. 3mfee, oo g fy we W & a1gieR 9 a1 -3 set-se sied 9 | 1 oS,
2023 1 AT 61 g &1 TS | IV FIEICRI 4 FH 1 GG Ie] T@H 1 Ho fora
T 9o | 1} Wl 4:3 o UG | Sied 1 i foram | oo qen fmw w1 stfeemy

AT BT :
(A) 4:3 (B) 3:2
(C) 5:2 D) 11 1

16. AR (A) : Tl §Sht fafer & s, |meieri o doft Wid Hed ST 919 gifd 2 |

HROT (R) : T 45 fafer < oraia, @t 7ei S8 o 3 g1 &1 9T, ISt S,
JTETT, IATEWT T ST, 1 T TUeh STl WA H FohalT ST 8 S TTEIERT o 9o
T HEdTd & |

FrafaRea @ 9 w2 foesrea =1 === Sifve

(A)  ATHET (A) TATHRT (R) SHT &l § 7UT HRUT (R), 3 (A) i T8l ST 2 |

(B) ANYRYA (A) 71 %R (R) GHI T&T &, wAfehd R0 (R), TR (A) I T2
T TE 2 |

(C) MR (A) & g, Tfhd R (R) T 2 |

(D) FANRYT (A) TTeTd 8, wifeh sruT (R) G&1 2 | 1
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13. Kanha, Resham and Nisha were partners in a firm. Nisha had given a
loan of ¥ 1,00,000 to the firm @ 10% p.a. The accountant of the firm is
emphasizing that interest on loan will be paid @ 6% p.a. At what rate the
interest on loan will be paid to Nisha ?

(A) 6%p.a. B) 10% p.a.
(C) 8%p.a. (D) No interest on loan will be paid. 1

14. Assertion (A) : Interest on bearer debentures is paid to a person who
produces the interest coupon attached to such debentures.

Reason (R) : Bearer debentures are transferred by way of delivery and
the company does not keep any record of these debenture holders.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1

15. Aditya, Vishesh and Nimesh were partners in a firm sharing profits and
losses equally. Aditya died on 1st July, 2023. Remaining partners decided
to continue the business of the firm and decided to share future profits in
the ratio of 4:3. The gaining ratio of Vishesh and Nimesh will be :

(A) 43 B) 3:2
(€) 5:2 D) 11 1

16. Assertion (A) : Under the fixed capital method, partners’ capital
accounts always show a credit balance.

Reason (R) : Under the fixed capital method, all items like share of profit
or loss, interest on capital, drawings, interest on drawings are
recorded in a separate account called partners’ current account.

Choose the correct alternative from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1
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17. a1, i1 a1 S T B o AIRGR & GT 4:3:3 % ITIITA § AT-TH 1 faIare i

g | 1 378, 2023 | IR A1 I 1:2:2 % U1 § foviira 6 & foe weafa & 139

fefer =1 e 1 &kl 1 3 70,000 T FHTRT T o7 |

g HEAfd 5% foh

(i) W <l AT 3T Gediehd T 1,00,000 foram ST |

(i) HEIRTET %GR T QAT o AMERT 9 &TH 31 TRT T 40,000 off |

W <hl J&ehl B IUUS -1 o foTT 3TTeeeres UsHH= Ffafd=t Shife | 3
18. (a) 3TTYY TAT HY HIZGR & AUT ATH SUSK-TTSK Sied & | I8H A9 H TS 9H

T 91 1 A1 WEeR §9H 1 vl forn | 36 Sevw o fou WA <ht @t
ToTeh STTUCTHI o TR 91 oh $h¥ oh STET T et ST o |

31.3.2023 I a7 Y31 | & W o1 fefef T fm wehm o

31.3.2023 =i Y AT F 1 FRfar foremor
A Tafsr it Tfyr
(9] ®)
ESE Aef 75,000
IS 90,000 B 15,000
ol 50,000 1,40,000 | i 30,000
AT Fe 20,000 | GTeR 20,000
i 25,000 | Tg 50,000
EEG 5,000
1,90,000 1,90,000
et <61 HTHTRT 2T 12% ST 2 | %8 o1 fsel <1 a1 &1 378d o 2 30,000
T | TIT( | 97 o 9T <hl TUMT ShifTy | 3
COCH

(b) T, TTEVT, ITEUT AT VT Ueh H b HTSIGR A AT 5:3:2:2 o AT H &1 died o |
31 W, 2023 I 376 HATHIT &l AT | TEOT, TR AT ST  HiqST § AR
S-SR S1e 31 TR T | 3707 o HaTi-e B I HH 3hi SATHT 1 Fomeh
%9,00,000 feram 7T |
319 ST I AT H A §U, BTN W1 @it o1 T o oi@ieh o foIq, 37607
1 T TR 3TEREeh UsHme1 Sefd hif | 3

19. (a) wew fafies 4 S foafies @ T 4,50,000 =1 w5= qon wefiad =1 7 fomam | S0
feafirdg &1 WM T 50,000 T Th = <ot AT AT & fot T 100 T & 6%
SRUTIHAT Bl 20% og T Fifira shees fopam i |
YR S -¢Hl o foT gt feafiree <6t qeenl § Stravaes Usm=n gfafsai i | 3

CLEN
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17. Nita, Mita and Karan were partners in a firm sharing profits and losses
in the ratio of 4:3:3. With effect from 1st April, 2023, they agreed to share
profits and losses in the ratio of 1:2:2. On that date, there was a General
Reserve of ¥ 70,000 in the books of the firm. It was agreed that :
(1) Goodwill of the firm be valued at % 1,00,000.
(1) Loss on revaluation of assets and re-assessment of liabilities
amounted to ¥ 40,000.
Pass necessary journal entries for the above transactions in the books of
the firm. 3

18. (a) Aayush and Krish are partners sharing profits and losses equally.
They decided to admit Vansh for an equal share in the profits. For
this purpose, the goodwill of the firm was to be valued at four years
purchase of super profits.

The balance sheet of the firm on 31.3.2023 before admission of Vansh
was as follows :
Balance Sheet of Aayush and Krish as on 31.3.2023

Liabilities Amount Assets Amount
® ®

Capitals : Machinery 75,000

Aayush 90,000 Furniture 15,000

Krish 50,000 1,40,000 | Stock 30,000

General Reserve 20,000 | Debtors 20,000

Loan 25,000 | Cash 50,000
Creditors 5,000

1,90,000 1,90,000

The normal rate of return is 12% per annum. Average profit of the
firm for the last four years was ¥ 30,000. Calculate Vansh’s share of
Goodwill. 3
OR

(b) Varun, Tarun, Arun and Barun were partners in a firm sharing profits
in the ratio of 5:3:2:2. Arun retired on 31t March, 2023. Varun, Tarun
and Barun decided to share future profits equally. On Arun’s
retirement, Goodwill of the firm was valued at ¥ 9,00,000. Showing
your workings clearly, pass the necessary Journal entry for treatment
of Goodwill on Arun’s retirement without opening goodwill account. 3

19. (a) Mahesh Ltd. purchased Plant and Machinery from Ish Ltd. for
T 4,50,000. T 50,000 was paid by cheque to Ish Ltd. and the balance
by issuing 6% debentures of ¥ 100 each at a discount of 20%.

Pass the necessary Journal Entries for the above transactions in the
books of Mahesh Ltd. 3
OR
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(b) HivThT T 7 % 100 T & 500 370 /3”/ &1 80 (Forfeit) T 20 Uid
3TS1/3RR T TG AT q>T X 25 Wi 3T/ 1 gEA q;T JHA{H AT
YA T8 i T fofm | 90 | 250 3790 /33 1 T 50 Wl 3791 /37 9 qui
yed yA:fifea st feam mam | 3wt/ % g (Forfeit) @em ga:fnfga <

s Sfafsat i |
20. TN 3R 37 Th HH o FEIGR & q7 1:2 % I H -1 1 foadmeH i o |
IRt TrRf St sREST: € 6,00,000 @91 T 3,00,000 &t | ¥ % @I IR T o ¢ I8
T e T ok AT < TS | qd A9l Ho@ W STIER 12% it & 8 TSl W
TSt fem ST o ; 8 Areier o ISt @rdi O ST E TR T |
AT U UsHTHET TS T | 3793 SR bl TI5dT 8§ gisy |
21. 1M, T YT T ARIGR & qAT 2:3:1 & FITd § o9 §fcd o | 31 0=, 2023 I 36T
feufe feraror f yepm o
31.3.2023 I TW, U 1 U 1 fRufa ferawor
I i ®) it i ®)
THER 3,62,000 | T 14,000
U T 18,000 | s 2,96,000
it wih 80,000
TH 1,00,000 TR 3,00,000
o 2,00,000 HeT : Gy N %
U1 3,00,000 6,00,000 | feru srarem 10.000| 290,000
IECH 50,000
W 2,50,000
9,80,000 9,80,000
30 AR, 2023 %! e I J Bl 715 | Teh HTSHGR 31 o T ATHEN Hord H = 1
BIECIE R
() Tt S AT fUse i aut % a9 % €1 IS1 % 5 o STYUR W bl SR |
fuser fiF aut & @ 9 : 2020-21 T 45,000; 2021-22 T 90,000 TAUT 2022-23
% 1,35,000.
(i) Heg 1 ol 7ok gash ATIER o T <hl AT fret AT TNt % 3fiEd T o SR T
ERsioull
TgH o ITATIHTRET bl TEIA i o ToTT IehT ISit QT dIm HIfT |
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(b) Manika Ltd. forfeited 500 shares of ¥ 100 each for non-payment of
first call of ¥ 20 per share and second and final call of ¥ 25 per share.

250 of these shares were reissued at T 50 per share fully paid up.

Pass the Journal Entries for forfeiture and reissue of shares. 3

20. Rajesh and Anu were partners in a firm sharing profits and losses in the
ratio of 1:2. Their fixed capitals were ¥ 6,00,000 and % 3,00,000
respectively. After the accounts for the year were prepared, it was noticed

that interest on capital @ 12% p.a., as provided in the partnership deed,

was not credited to the capital accounts of partners before distribution of

profits.

Pass the necessary adjusting journal entry. Show your workings clearly. 3

21. Ram, Ravi and Rohan were partners sharing profits in the ratio of 2:3:1.
On 31st March, 2023, their Balance Sheet was as follows :

Balance Sheet of Ram, Ravi and Rohan as on 31.3.2023

Liabilities Amount }) Assets Amount })
Creditors 3,62,000 | Cash 14,000
General Reserve 18,000 | Bank 2,96,000
Capitals : Stock 80,000

Ram 1,00,000 Debtors 3,00,000
Ravi 2,00,000 Less : provision for
Rohan 3,00,000 6,00,000 | doubtful debts ~__10.000 2,90,000
Investments 50,000
Land 2,50,000
9,80,000 9,80,000

Rohan died on 30th September, 2023. On the death of a partner the
partnership deed provided for the following :

(1) Goodwill was to be valued at two years purchase of average profit of

last three years. The profits for the last three years were :

T 45,000, 2021-22 T 90,000 and 2022-23 T 1,35,000.
(1) Deceased partner’s share of profit till the date of his death will be

calculated on the basis of average profit of last three years.

2020-21

Prepare Rohan’s Capital Account to be rendered to his executors. 4
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22. UMa fafaes T 100 & o 75,000 371 /3= | fawam T 75,00,000 61 31feeha IS0
o |1 TSiiehd oft | PO A 45,000 37911 /3R <6 e < foTe smraies st fopg |

TR o1 YA e TP & < o

T W - T 30 e 37901/3RR, 3TeA W — T 30 Ui 3731 /39N, T2 A=A W — T 25
e 3791 /IR AT I A< A=A W
42,000 31971/ o6 TIu. 3Eie W g am |t STragent i 3Teed L fem T |
I, {8 3,300 3791/ 1 A& b1 T AT, ST AT T P HH H
G &I | 3Heh 37 /I b1 80T (Forfeit) T foram mam |
st arfarfem, 2013 St SR 111, 9T 1 o IaR Swra o fefa foaer § ot /9rr

STt SR ShIfTT, | Tl o Higd SISy | 4
23. (a) 3AToRIT TUT VTGS Teh HH o TTHGH & AT 7:3 % UM H oY §ied & | 31 974,
2023 1 I7ehT e fereor f Jehr o
31 9, 2023 Y ket a wra 1 feafa faawon
St a et a
®) ®
TR 60,000 | TTe 36,000
3T TGl 9,000 | GTER 54,000
YA e 15,000 | =27 : Hfewe swon
HfuyEyE  6.000] 48,000
it wieh 60,000
CIECa) 1,20,000 ETiE 1,20,000
BICK) 1,80,000| 3,00,000 | #sfid 1,20,000
3,84,000 3,84,000
1 379, 2023 1 I8 AT H 1/4 W o TI¢ =T8d bl 7T a1 T Teh 731 HTSIER
ST :
(i) =mead A USit o ' H T 90,000 T TN T o6 37U 9T % folg
% 30,000 STWT |
(ii) 3TGT TIGH hT YA T TeT ST |
(iii) e i 10% A ThIT T |
(iv) % 6,300 % TH SR, Frwent oi@t gdent § T4l T 2, o1 o feman
SRAT |
WH Shl JEeh] B IUUE T -1 o ToTT 3TTegeeh TsimH= Yfafeat Hifvw | 6
GO
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22. Ronit Ltd. was registered with an authorised capital of T 75,00,000

23.

divided into 75,000 equity shares of ¥ 100 each. The company invited
applications for issuing 45,000 shares.

The amount was payable as follows : T 30 per share on application, ¥ 30 per
share on allotment, ¥ 25 per share on first call and balance on final call.

Applications were received for 42,000 shares and allotment was made to
all the applicants. Charvi, to whom 3,300 shares were allotted, failed to
pay both the calls. Her shares were forfeited. Present the share capital in
the Balance Sheet of the company as per Schedule III, Part I of the

67/4/3/21/QSS4R

Companies Act, 2013. Also prepare notes to accounts. 4
(a) Anikesh and Bhavesh are partners in a firm sharing profits in the
ratio of 7:3. Their Balance Sheet as on 31st March, 2023 was as
follows :
Balance Sheet of Anikesh and Bhavesh as on 31st March, 2023
oy evess Amount Amount
Liabilities ®) Assets ®)
Creditors 60,000 | Cash 36,000
Outstanding wages 9,000 | Debtors 54,000
General Reserve 15,000 | Less : Provision for
doubtful debts _ 6,000 48,000
Capitals : Stock 60,000
Anikesh 1,20,000 Furniture 1,20,000
Bhavesh 1,80,000 | 3,00,000 | Machinery 1,20,000
3,84,000 3,84,000
On 1st April, 2023 Chahat was admitted for 1/4th share in the profits
on the following terms :
(1) Chahat will bring ¥ 90,000 as her capital and ¥ 30,000 as her
share of Goodwill premium.
(11) Outstanding wages will be paid.
(111) Stock will be reduced by 10%.
(1v) A creditor of ¥ 6,300, not recorded in the books, was to be taken
into account.
Pass necessary Journal Entries for the above transactions in the
books of the firm. 6
OR
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(b) T, rfex e fohaT Ush W & ATRER 9 aAT 7:2:1 % U H A9 Sied o |
31 {1, 2023 i 39ehT fRufa feremor fr yepm o -

31 W, 2023 1 ST, whifet g ferare v feufe foemor

A TR gt Ty
®) ®
it i 12,00,000
B 9,60,000 o 9,00,000
HIfeT  8,40,000 HATeR 3,60,000
fp™ 9.00.000| 27,00,000 | =ik 6,60,000
qT= 999 3,00,000 | eer 6,00,000
HIR Fffd g 5,40,000 | =T : Hfewer ol
e 3,60,000 | Ffuy@s™ 30,000/ 5,70,000
EER U 2,10,000
39,00,000 39,00,000

3w fafer st frferfad st w swifet Safres &
(i) W <l TATH T Godieh T 12,00,000 fora 1T |
(i) T 30% | TG TR GAT 9 W 2 3,54,000 H GG THTIET SRR |
(iil) STERI T 6% 1 STaeH fRam S |
(iv) MR &fagfd et 2 1,40,000 feifa & 73 |
(v)  ohTIeL <l < TR < 3Geh YT WA H BEATa A ohT &1 T |
(vi) T8 WH &I FA S T 16,00,000 Feifd i 18 FERT THRISH 36 T
AT - TaWTSH STATd | =T @Td @icteht fohdl STaT |
YHeHTR W1 AT HISGRT 3 Ysil @Td daR HfT |

24. (a)

st Tt 9 2 10 I 6 2,00,000 FHAT 370 /30 bl 20% Hiftem w fifid

i o foTu amree Smufia fepu | wfa 3ter/3mR i o1 Jram e TR @ < o
AT W — T 5, 3MEA W — T 4 (i afeq) qon A9 yom ug =" I=E1 «® |
AT 3 3,20,000 390/ % fotw aeT fhw, fw @ 20,000 3790 /3”0
TG I T& L T T3 QM 99 3ATegeh! sl STUTIh STUR 9T 370 /3 <61
TS L feam =T | 15,000 =M /3T <hl Teh HATaceh ohieldT 38 qT Ir=ET T
ST YT HH H 316 Tal | 35eh 390 /IR 1 501 (Forfeit) ST fetam = |

T ST JEdeh] § ST o -¢HT o foTT STTawres st gfafst Sifse | 6

67/4/3/21/QSS4R
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24.

(b) Prina, Qadir and Kian were partners in a firm sharing profits in the
ratio of 7:2:1. On 31st March, 2023 their Balance Sheet was as follows :

Balance Sheet of Prina, Qadir and Kian as on 31st March, 2023

Liabilities Amount Assets Amount
®) ®)

Capitals : Land 12,00,000

Prina 9,60,000 Building 9,00,000

Qadir 8,40,000 Furniture 3,60,000

Kian 9.00,000| 27,00,000 | Stock 6,60,000
General Reserve 3,00,000 | Debtors 6,00,000

Workmen’s Less : Provision for

compensation Reserve | 5 40,000 | doubtful debts _ 30,000| 5 70,000

Creditors 3,60,000 | Cash at Bank 2,10,000

39,00,000 39,00,000

(a)

On the above date Qadir retired. Following was agreed :

(1) Goodwill of the firm was valued at % 12,00,000.

(11) Land was to be appreciated by 30% and building was to be
depreciated by ¥ 3,54,000.

(111) A provision of 6% is to be maintained on debtors.

(iv) Liability for workmen’s compensation was determined at
% 1,40,000.

(v) Amount payable to Qadir was transferred to his loan account.

(vi) Total capital of the new firm was fixed at ¥ 16,00,000 which will
be adjusted according to their new profit ratio by opening
current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

Lazal Ltd. invited applications for issuing 2,00,000 equity shares of ¥ 10
each, at 20% premium. Amount per share was payable as follows : ¥ 5 on
application ; ¥ 4 (including premium) on allotment ; and balance on first
and final call. Public applied for 3,20,000 shares, out of which applications
for 20,000 shares were rejected and shares were allotted on pro-rata basis
to the remaining applications. Kavita, an applicant of 15,000 shares failed
to pay allotment and call money. Her shares were forfeited.

Pass necessary Journal entries for the above transactions in the

books of the company.

67/4/3/21/QSS4R
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(b) =ig fafiee 3 T 10 I&% & 1,00,000 THAT /IR T T 2 Tl 379/IRR
fftrem w forffira s & fore smaea st o | fe st /e afdn <1 ymam fe
YR ¥ ¢ AT : 3T W — T 4 (fiftrem wfga), s&ed w — T 5 9ur 99 yom
=W J=AT 91 1,80,000 371 /3R % T 311eeq W g€, {598 @ 30,000
I /ST o TG bl & hL feam TR qem 99 ST1ageh! Sl STHUTde SR W
TS/ BT AT HT feam T | 7EE S 5,000 30 /A H e off g we
=T ATEAT T PIAH H § 31T T aUT 3Heh 30 /IR 1 801 (Forfeit)
v T |

U ST o ToTT ot <hl g&ehl | 3TTereeh UsHH=T Tfafdat SHifs | 6

25. faft= afwmafai (T o S & stfafed) au g gt goansti o ageft @ §
TG i o U9 Hifgd aur Ufgd 61 areiert v o forered w f=fafaa -t
o ToTu 3Tervareh UsHm=T Siaisat it ;
() T T, foeest agmiaa gedr € 10,000 o1 qn frept oraT, wr@T-geden | el
feram e o, Mfga A T 7,000 A A |
(i) UfEd s T 15,000 % 0T 1 T 13,500 | Teams gerar s feam mm |

(iii) W9 % 99 T 1,00,000 & o= & | Wifed 7 50% Fe=m & 10% §g W o |
Safes 39 fam &1 T 60,000 H = fezm i |

(iv) g a1 T 23,000 9 |
(v) ¥ 45,000 % fafae oeri 1 2 2,000 6 e T f&ame gehar st fem mi |
(vi) ¥ 12,000 3l Sl i g1 I ATSERT o o= 3 ey -faarei S1uma ¥ sfe fen

T | 6

26. Trfafea aideafaat & gom fafiee 6 qedshi § ol & ol qen ol & e
T §3 /T B STARIRTT i o TAU STTaweh UsHT=n Sfafdat Hife
1) ¥ 1,000 T & 900, 6% FOTHAT T FHT 5% &g W T T, et weq
e R fehar st | wfeufe shiftem @ 19w 2 50,000 2 |
(i) T 1,000 I & 700, 8% FOTHHAT T A 10% s W T, fomept s
10% Sfifererm oz fomam smarm | whergfer hifirem @ %199 2 1,00,000 2 | 6
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(b) Chand Ltd. invited applications for issuing 1,00,000 equity shares of
% 10 each at a premium of ¥ 2 per share. The amount per share was
payable as follows : ¥ 4 (including premium) on application, ¥ 5 on
allotment and balance on first and final call. Applications were
received for 1,80,000 shares of which applications for 30,000 shares
were rejected and remaining applicants were allotted shares on pro-rata
basis. Mansi holding 5,000 shares failed to pay first and final call
money and her shares were forfeited.

Pass necessary Journal entries for the above transactions in the
books of the company. 6

25. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Mohit and Rohit after the various
assets (other than cash and bank) and the third party liabilities have been
transferred to realisation account :

(1) A machine which was not recorded in the books was taken over by
Mohit at ¥ 7,000; whereas its expected value was ¥ 10,000.

(1) Rohit’s loan of ¥ 15,000 was settled at ¥ 13,500.

(111) The firm had investments of ¥ 1,00,000. Mohit took over 50% of the
investments at a discount of 10%, while the remaining investments
were sold off for ¥ 60,000.

(1v) Realisation expenses amounted to ¥ 23,000.

(v) Sundry creditors amounting to ¥ 45,000 were settled at a discount of
% 2,000.

(vi) Loss on realisation ¥ 12,000 was divided between the partners in
their profit sharing ratio. 6

26. Pass necessary journal entries relating to issue of debentures and to write
off discount/loss on issue of debentures in the books of Srijan Ltd. in the
following cases :

(1) 900, 6% debentures of ¥ 1,000 each are issued at 5% discount and
redeemable at par. Balance in Securities Premium account 1is
% 50,000.

(1) 700, 8% debentures of ¥ 1,000 each are issued at 10% discount and
redeemable at a premium of 10%. Balance in Securities Premium
account 1s ¥ 1,00,000. 6
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-
fameg -1

(forefier forareott 1 fergetwon)

27. (a) A1 : foaxfia SoRameheTdi 1 Tray U 3Tm i Erelehtiores MR G T 7 |
HUA 11 : it ToRarehaTdl | 3cd=1 8 aTel Uehe JaTal i JUeh €9 § Fehe HET
EcaqUl & Fifes I8 fafferea tar 2 fop fopa dfimr a6 wrelt 31 qen Uehe

T8 b1 U~ i o ToTT HETEHT T @ o TR 2 |

TFrafaRea @ 92t faeed o1 = HifSw
(A) H I AATHYT 1S T & |
(B) ¥ I du1 Y [ SH1 7o & |
(C) F[TAd 8 M HIH I TS 2 |
(D) %Y [ TE 8 TN HYF [[ T4 2 |

YT

(b) ‘AT AT AT T YIAH' - T Uehg TaTE Teraror 9 =1 yorel g 2
(A) T fRamhal | Sfadts |
(B) Trawr fspamepetl & sfgaig |
(C) Terxfiam Tsramehemi 4 sfgals |
(D) Uk JaTE T HIE T T |

28. 4 ) fshg ®)
frasr 2,00,000 1,80,000
ECIIE] 3,00,000 —

STed G | et foramehetrdi @ The SaTg’ 81T
(B) % 3,20,000 sEaE
(D) T 20,000 3T=<ag

(A) T 3,20,000 HA=<dTg
(C) 20,000 sfgate

29. (a) ‘Tori forawon o fogeivor i 98 debrieh ST Ush 3 shl TIYICdT, IMEFETHAT qei
HRITHAT ST AThe i T TERIAT LT 7, A ST & -

(A) ke vaTE foaao (B) qeTcHeh fereron
(C) I 3R fereror (D) ATa foreryor
3AYdT
(b) __ 3T SIrE ST o A9 ot ST S1ar & |
(A) =T 3T (B) % U

(C) Hehel o9 74T
67/4/3/21/QSS4R
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PART -B
OPTION -1

(Analysis of Financial Statements)

27. (a) Statement I : Financing activities relate to long term funds or

capital of an enterprise.

Statement II : Separate disclosure of cash flows arising from
financing activities is important because they represent the
extent to which expenditures have been made for resources

intended to generate future income and cash flows.
Choose the correct option from the following :

(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.

(C) Statement I is incorrect and Statement II is correct.

(D) Statement I is correct and Statement II is incorrect. 1
OR
(b) What will be the effect of transaction ‘Payment of employee benefit
expenses’ on the cash flow statement ?
(A) Outflow from operating activities.
(B) Outflow from investing activities.
(C) Outflow from financing activities.
(D) No effect on cash flow. 1
28. Purchased ) Sold })
Investments 2,00,000 1,80,000
Goodwill 3,00,000 —
From the above information, ‘Cash flows from investing activities’ will be :
(A) Inflow X 3,20,000 (B) Outflow % 3,20,000
(C) Outflow % 20,000 (D) Inflow % 20,000 1
29. (a) The tool of ‘Analysis of Financial Statements’ which helps to assess
the profitability, solvency and efficiency of an enterprise is known as :
(A) Cash flow statement (B) Comparative statement
(C) Common size statement (D) Ratio analysis 1
OR
(b) __ 1s also known as the Acid Test Ratio.
(A) Current ratio (B) Quick ratio
(C) Gross profit ratio (D) Return on investment ratio 1
67/4/3/121/1QSS4R Page 23 of 32 P.T.O.

.
Qcollegedunlas
India’s largest Student Review Platform



30. #mw fafide #1 @@ FgUE 1.5:1 8 | FefaRad § & fora o9-¢F o1 afom =
IATd | st geft 2
(A) T 10,000 AR sl F&37 T T 12,000 H S=T1 TR |
(B) SATIR 9T & T 41,000 UhS Uehd foham T |
(C) T 38,000 o TIC HTeT b1 sHY fehal 77T |
(D) FERI %I 2 11,000 T T T 7T |
31. ot arffRm, 2013 3 SR 111, 9FT 1 S8R Teh ot o feufa foemor 4 =
TS ol fohrl G 3okl T 3U-3fveni (AT 15 ©) o IT=HTq S TehalT ST
() dsa rfim (ii) A0 I T (iii) TR QAT TR U™
32. U feifiee 1 i Wi /T@hi= € 1,00,000 7 761 Wieh 3TTex 3HI 6 AT & | I 71e
! T I 3T W 25% 1 U2 ST TR 8 =T § 3T <h ST shi T0HT i |
33. (a) T g=a1 & waw fofide 1 amm= smer fRuf foawor dam <hifse
31 9, 2023 o vy fafies b fafe famwor
Teraor dieE. | 31.3.2023 31.3.2022
(9] (9]
[. H9aTE eFan :
1. 3Ty /SRR et
(a) HHaT 37/ Y 30,00,000 15,00,000
(b) T= UL TR 10,00,000 5,00,000
2. 3 <Fald 20,00,000 20,00,000
3. 9o A 20,00,000 10,00,000
A 80,00,000 50,00,000
0. viEmfEr:
1. 7= gimmfaat 40,00,000 30,00,000
2. =T aiEEREt
(2) T () 40,00,000 20,00,000
FA 80,00,000 50,00,000
Jgan
(b) T g @ s ferfies &1 qerTees ey -1t forawor dam hife
Teraor 31.3.2023 31.3.2022
eI 3T (%) 40,00,000 20,00,000
ST Wb 1 367 (3) 24,00,000 12,00,000
T2ieh T IR (ST Tieh sha T %) 25% 20%
I = () 2,00,000 1,60,000
T 40% 40%
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30.

(D) Creditors were paid T 11,000. 1
31. Under which Major Heads and Sub-Heads (if any) will the following items
be presented in the Balance Sheet of a company as per Schedule III, Part
I of the Companies Act, 2013 ?
(1) Capital Advances (11) Income received in Advance
(111) Stores and Spare Parts 3
32. The average inventory of AB Ltd. is ¥ 1,00,000 and the inventory turnover
ratio is 6 times. Calculate the amount of revenue from operations if goods
are sold at a profit of 25% on revenue from operations. 3
33. (a) Prepare a Common Size Balance Sheet of X Ltd. from the following
information : 4
Balance Sheet of X Ltd. as on 31st March, 2023
Particulars Note | 31.3.2023 31.3.2022
No. ®) ®)
I. Equity and Liabilities :
1. Shareholders’ funds
(a) Equity Share Capital 30,00,000 15,00,000
(b) Reserves and Surplus 10,00,000 5,00,000
2. Non-current liabilities 20,00,000 20,00,000
3. Current Liabilities 20,00,000 10,00,000
Total 80,00,000 50,00,000
II. Assets :
1. Non-current assets 40,00,000 30,00,000
2. Current assets
(a) Inventories 40,00,000 20,00,000
Total 80,00,000 50,00,000
OR
From the following information prepare a Comparative Statement of
Profit and Loss of Y Litd : 4
Particulars 31.3.2023 31.3.2022
Revenue from operations (%) 40,00,000 20,00,000
Purchase of stock in trade (%) 24,00,000 12,00,000
Change in inventories (% of purchase 25% 20%
of stock in trade)
Other expenses (%) 2,00,000 1,60,000
Tax rate 40% 40%
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Quick ratio of Megamart Ltd. is 1.5:1. Which of the following transactions
will result in decrease in this ratio ?

(A) Sale of goods costing ¥ 10,000 for ¥ 12,000.

(B) Cash collected from trade receivables ¥ 41,000.

(C) Purchase of goods for cash ¥ 38,000.
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34. 31.3.2023 i 9Rd 79 fefirde 1 fefa feremor f yemm o -

31.3.2023 @ WRa 79 ferfies ot feufe feawor
FSET Med. | 31.3.2023 [ 31.3.2022
] ® ®
I GHdT oY el ;
1. 3AYRe FHieET
(a) 31 14,00,000 | 10,00,000
(b) T UG AT 1 5,00,000 | 4,00,000
2. 3FEd ¢FAmd
relepTefM 38U 5,00,000 | 1,40,000
3. =Te] ¢Fand
(a) AU <F 1,00,000 60,000
(b) Y- JTFEH 2 80,000 60,000
25,80,000 | 16,60,000
11 giEmEt
1. =« IREmfwEt
(a) rft ufemafat
)
(i) w5 feeefEr 3 | 16,00,000 | 9,00,000
(U, T3 Td 3UHN)
(i) I TRt 4 1,40,000 | 2,00,000
2. T
(a) ik (HTeTg=) 2,50,000 | 2,00,000
(b) ST ITH 5,00,000 | 3,00,000
(c) S Td Uhg oo 90,000 60,000
25,80,000 | 16,60,000
@l < e
die . T 31.3.2023 | 31.3.2022
® ®
1. | 999 Ug 3R
-1 forawor =61 39 5,00,000 | 4,00,000
5,00,000 | 4,00,000
2. | Tg-afy yay :
EZSICLIC] 80,000 60,000
80,000 60,000
3. | v ufwfo
(guf, T qUT 3UHT)
Tl 18,50,000 | 10,00,000
T : Th Toag™ (2,50,000) | (1,00,000)
16,00,000 | 9,00,000
4. %ﬂﬁ&lﬂﬁ?ﬁ
1,40,000 | 2,00,000
1,40,000 | 2,00,000
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34. Following is the Balance Sheet of Bharat Gas Ltd. as at 31.3.2023 :
Balance Sheet of Bharat Gas Ltd. as at 31.3.2023

Particulars Note | 31.3.2023 | 31.3.2022
No. ®) ®)
I Equity and Liabilities :
1. Shareholders’ funds
(a) Share capital 14,00,000 | 10,00,000
(b) Reserves and Surplus 1 5,00,000 | 4,00,000
2. Non-current Liabilities
Long term borrowings 5,00,000 | 1,40,000
3. Current liabilities
(a) Trade payables 1,00,000 60,000
(b) Short term provisions 2 80,000 60,000
Total 25,80,000 | 16,60,000
II Assets:
1. Non-current Assets
(a) Fixed Assets
(Property, plant & equipment
and intangible assets)
(1) Tangible assets 3 16,00,000 | 9,00,000
(Property, plant & equipment)
(11) Intangible assets 4 1,40,000 | 2,00,000
2. Current Assets
(a) Inventories 2,50,000 | 2,00,000
(b) Trade receivables 5,00,000 | 3,00,000
(¢) Cash and cash equivalents 90,000 60,000
Total 25,80,000 | 16,60,000
Notes to Accounts :
Note Particulars 31.3.2023 | 31.3.2022
No. ®) ®)
1. | Reserves and Surplus :
Balance in Statement of Profit and Loss 5,00,000 4,00,000
5,00,000 4,00,000
2. | Short term provisions :
Provision for Taxation 80,000 60,000
80,000 60,000
3. | Tangible Assets :
(Property, plant and equipment)
Machinery 18,50,000 | 10,00,000
Less : Accumulated Depreciation (2,560,000) | (1,00,000)
16,00,000 9,00,000
4. | Intangible Assets :
Goodwill 1,40,000 2,00,000
1,40,000 2,00,000
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feriar =T : 99 < R 2 3,00,000 SAFTA i T A o1, T8 TR THEA Jeag™
% 45,000 T, ¥ 1,35,000 H =1 =T |

Tt TshaTeheTdl 8 Uehe YaTg hl TUMT HIfST | 6
-9
feepew — 11
(i @)
27. (a) UeEe Fefeiiga § & i & TR JTer Tgl 1 §uH TEe ST R
(A)  TOT ST TAT AT (B) T CHT QAT 0T AT
(C) dITdieh qUT 0N AT (D) EHT qUT WIT & 1
COCH
(b) THEA 2007 T TeraT dfFaal Iuctsd Bl & ?
(A) 5663 (B) 65536
(C) 72257 (D) 4332 1
28. THd ¥ Truer 91 dey ot ‘Tfsa gew’ o Jeue hE hi St B 2
(A) $ Torga =1 v Fh (B) £ Torga =1 v Hh
(C) # Torga =1 W b (D) ~ forga =1 w= 1
29. (a) U T YERIG AT 1 THT W 511 Teh ST S{GAT i JGHATIhT &, STHT ST &
(A) I @I (B) =21 3A
(C) TAIe g (D) oNiE 1
COCH

(b) UHA Y TA. T 5.0A. 08, (LABELS) 1 32 2
(A) Th eae 3Uan fafire gt
(B) dfell, Tl AT AT G oh foTC T fehal ST % |
(C) TITOTCHa &9 1 Iu=Tid foha ST Eehal 2 |

(D) (A) T (B) gAI 1
30. 1§ @ 1 91 Gived= 7 MuIdr TR i HqT § gHIfad § a7 HiFeasl 221 U
YU ?
(A) e (B) wffthep
(C) Sifeh (D) (A) T (B) SHI 1
31. 3TN h! HERIAT § ‘Tsh{Heh hIg’ TUT ‘Aleh IS ol THIAST | 3
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Adjustments : During the year a machine costing ¥ 3,00,000 on which
accumulated depreciation was ¥ 45,000 was sold for T 1,35,000.

Calculate ‘Cash flows from Operating Activities’. 6

PART -B
OPTION -11
(Computerised Accounting)

27. (a) Excel considers which of the following group of mathematical
operations of equal importance ?

(A) Multiplication and Addition (B) Division and Multiplication

(C) Exponent and Multiplication (D) Subtraction and Division 1
OR
(b) How many rows are available in Excel 2007 ?
(A) 5663 (B) 65536
(C) 172257 (D) 4332 1

28. How are ‘absolute cell references’ and ‘mixed reference’ identified in Excel ?
(A) using $ sign (B) using £ sign
(C) using # sign (D) using ~ sign 1

29. (a) ‘A piece of information shown in a graph which is assigned to the
data series’ is known as :

(A) data point (B) data table
(C) plot point (D) legend 1
OR

(b) ‘LABELS’ in Excel means :
(A) A text or special character
(B) Used for rows, columns or descriptive information

(C) Can be treated mathematically
(D) (A) and (B) both 1

30. Which of the following type of software suffers from the limitation of low
secrecy level and software being prone to data frauds ?

(A) tailored (B) specific

(C) generic (D) (A) and (B) both 1
31. Explain ‘Sequential Codes’ and ‘Block Codes’ with examples. 3
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32. THHA H | g e e’ 1 e S TR S @ 7 wwese | 3
33. (a) Scoi@ HINT foh Th AT 1 TCe hl IATATIRAT FT TSl & 7 3H Hd Seell I
HehdT & ? I8 I hal Al & foh Teh hictH TTS ol TE-TTE H SeaHT ST Bial
2 2 SR T | 4
3YdT
(b)  IRYHITT IGTeRT TUTTEAT & SATHT T Iooi@ HINTT | 4
34. - ;
Insert Page layout Formulas Data Review  View
Calibri 11
8 Copy ~ ’ i
P : o e T
afte ¥ Format Painter BT U-Ci-'¢
Clipboard fa Font 5 Alignment 5
B3 M RN R ,
A s B E iR H
i vorm e P gt o | o : T e
2 10000 15000 25000
2 40000 35000 75000
fi 25000 40000 65000
5 30000 50000 80000
6 34000| 45000 79000
Y 12000 30000 42000
8 38000 56000 94000
Fehuiie w1 TN hid 7Y feu MU ‘diggeham’ ame fa=ma (VLOOKUP f&aw) Ffe qen
THeh 10T <1 Tl TSN | 6

(i) =diegpam &ft1, 2 :38, 2, 0)

(i) = THRIIE (FehaTd (S5, 8 : 38, 2, 0) — 100000)
(iii) = iefeh3TT (T2, U2 : TS, 2, 0)

(iv) =diegham (&2, i3, 24, 5, 0)

(v) =dioham (&2, T2 : 38, 0, 0)

(vi) =dierham (&2, 2, 38, 2, 0)/0
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32. How to use ‘Mark Common Formula Error’ in Excel ? Explain. 3

33. (a) State why do you need to change a chart ? How can it be changed ?
Why is it said that changing a column chart to a pie chart is easy ?
Give reasons. 4

OR

(b) State the advantages of computerized accounting system. 4

5

34.

Formulas Data Review View {/ Tell me what y

Insert  Page Layout

Calibri
Paste - i) v
. ¥ Format Painter I U
Clipboard fa Font i Alignment i

B13 - > Ko

4 A7 C D E | {5 Gip H
1 |S. No| Product | Q1 sales | Q2 Sales | Total half yearly sales

2 1 A 10000 15000 25000

3 2 B 40000 35000 75000

4 3 C 25000 40000 65000

5] 4 D 30000 50000 80000

6] 5 E 34000 45000 79000

7 6 F 12000 30000 42000

81 7 G 38000 56000 94000

Using the worksheet find out the error and its reason for the given
‘VLOOKUP’ syntax. 6

(i) =VLOOKUP (B1, B2: ES, 2, 0)

(i) =SQRT (VLOOKUP (B5, BS : ES, 2, 0) — 100000)
(ili) = VLOOKUP (A2, A2 : A8, 2, 0)

(iv) = VLOOKUP (B2, B3, E4, 5, 0)

(v) =VLOOKUP (B2, A2 : ES8, 0, 0)

(vi) = VLOOKUP (B2, B2, ES, 2, 0)/0
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